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Week 1, Day 3: 
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Week 1, Day 4: 
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Week 1, Day 5: 
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Draw an arrow to show the following numbers on the 0100 number lins
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Draw an arrow to show the following numbers on the following number lines:
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Reading and Writing Numbers to 100 Worksheet

Can you fill out any missing boxes for each of the numbers below? The frst one has been done for you to
show you what to do.
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Peter Rabbit says he can get back to his run in 3 hops! Find different ways
that Peter can do this and draw them on the number lines. Can you write
number sentences to match his hops?

How many other ways can you find? Can you find them all?
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Hops down from 10 .
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Peter Rabbit wants to hop away from the wolf in 3 hops. Find different ways
that Peter Rabbit can do this and draw them on the number line. Can you
describe how hopping up and hopping down from 10 are related?

How many other ways can you find? Can you find them all?
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Addition to 20 on a Number Line
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Subtraction within 20 on a Number Line
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Monsters Colour by Number Addition and Subtraction up to 20

Solve the calculations in the picture to work out what colours they should be!

12= Pink
15= Green
18= Grey
20= Red
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Complete the following sequences:

O__ 46 8 10 __ P24 21__ 15 12
b)50 45 35 25 935 40 50 __ 60
96 9 12 __ 18 W1 81 71 6l
990 __ __ 60 50 40 D__ 3230 282
916 36 46 __ 66 P02 5060

Continue the following sequences:
K5 10 15
b3 649

m) 85 80 75
n) 14 24 34
02 4 6

p)50 55 60
Q45 42 39
70 68 66
s) 147 137 127

Challenge: Choose a starting number and count in 25, 55 or 10s from that
number. Can you think of a way in which counting in 5's is different from
counting in 2s or 10s?
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Number Words Expanded Form Picture
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